Soustraction Avec Des Zéros (F)

Calculez la différence.

100 1000 100 100
-89 - 338 -18 -8
1000 100 100 100
- 580 -90 -1 - 84
100 1000 100 1000
- 28 - 233 - 80 - 986
1000 1000 100 1000
- 652 - 298 - 66 - 243
100 1000 1000 1000
-85 - 344 -963 - 157
1000 1000 1000 1000
- 263 - 365 - 959 - 262
100 1000 1000 1000
-10 - 686 - 36 - 304
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Soustraction Avec Des Zéros (F) Réponses

100
-89

11

1000
- 580

420

100
- 28

72

1000
- 652

348

100
-85

15

1000
- 263

737

100
-10

90

Calculez la différence.

1000

- 338

662

100

-90

10

1000

- 233

767

1000

- 298

702

1000

- 344

656

1000

- 365

635

1000

- 686

314

100
-18

82

100

100

99

100
- 80

92

100
- 84

20

100
- 66

16

1000
- 986

34

1000
-963

14

1000
- 243

37

1000
- 959

757

1000
- 157

41

1000
- 36

843

1000
- 262

964

738

1000
- 304

696
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